

Event Lines

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
1	BASEBALL S SPEC. 4.2.1	101456	805-24	Baseball Equipment	60.0000	DZ	CM Contract	Open	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
10	1	Bill Fritz Sports Corporation	Bill Fritz				60.0000	NO BID		
1586	1	DGG Taser & Tactical Supply	Mary-Rene Ahern	2322			60.0000	NO BID		
2797	1	BSN Sports	William Rusnak				60.0000	26.83000	1,609.80	
2914	1	Equip-it	Jon Willis					NO BID		
2927	1	ALUMINUM ATHLETIC EQUIPMENT CO	DAN MCCANN					NO BID		
2949	1	Riddell/American	J Braddy				60.0000	27.06000	1,623.60	

Event Lines

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
2	BASEBALL S SPEC 4.2.2	101457	805-24	Baseball Equipment	24.0000	DZ	CM Contract	Open	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
10	1	Bill Fritz	Bill Fritz					NO BID		

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
1586	1	Sports Corporation DGG Taser & Tactical Supply	Mary-Rene Ahern	2322			24.0000	NO BID		
2797	1	BSN Sports	William Rusnak				24.0000	27.57000	661.68	
2914	1	Equip-it	Jon Willis					NO BID		
2927	1	ALUMINUM ATHLETIC EQUIPMENT CO	DAN MCCANN					NO BID		
2949	1	Riddell/American	J Braddy				24.0000	27.06000	649.44	

Event Lines

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
3	BASEBALL S SPEC 4.2.3	101458	805-24	Baseball Equipment	15.0000	DZ	CM Contract	Open	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
10	1	Bill Fritz Sports Corporation	Bill Fritz					NO BID		
1586	1	DGG Taser & Tactical Supply	Mary-Rene Ahern	2322			15.0000	NO BID		
2797	1	BSN Sports	William Rusnak				15.0000	40.19000	602.85	
2914	1	Equip-it	Jon Willis					NO BID		

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
2927	1	ALUMINUM ATHLETIC EQUIPMENT CO	DAN MCCANN					NO BID		
2949	1	Riddell/American	J Braddy				15.0000	34.97000	524.55	

Event Lines

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
4	BASEBALL S SPEC 4.2.4	101459	805-24	Baseball Equipment	8.0000	DZ	CM Contract	Open	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
10	1	Bill Fritz Sports Corporation	Bill Fritz					NO BID		
1586	1	DGG Taser & Tactical Supply	Mary-Rene Ahern	2322			8.0000	NO BID		
2797	1	BSN Sports	William Rusnak				8.0000	40.72000	325.76	
2914	1	Equip-it	Jon Willis					NO BID		
2927	1	ALUMINUM ATHLETIC EQUIPMENT CO	DAN MCCANN					NO BID		
2949	1	Riddell/American	J Braddy					NO BID		

Event Lines

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
5	PITCHING RUBBERS SPEC. 4.2.29	101460	805-24	Baseball Equipment	18.0000	EA	CM Contract	Open	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
10	1	Bill Fritz Sports Corporation	Bill Fritz					NO BID		
1586	1	DGG Taser & Tactical Supply	Mary-Rene Ahern	2322			18.0000	NO BID		
2797	1	BSN Sports	William Rusnak				18.0000	108.17000	1,947.06	
2914	1	Equip-it	Jon Willis					NO BID		
2927	1	ALUMINUM ATHLETIC EQUIPMENT CO	DAN MCCANN					NO BID		
2949	1	Riddell/American	J Braddy				18.0000	9.97000	179.46	

Event Lines

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
6	HOCKEY-STYLE CATCHERS MASK SPE. 4.2.36	101461	805-24	Baseball Equipment	4.0000	DZ	CM Contract	Open	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
10	1	Bill Fritz Sports Corporation	Bill Fritz					NO BID		
1586	1	DGG Taser & Tactical Supply	Mary-Rene Ahern	2322			4.0000	NO BID		
2797	1	BSN Sports	William Rusnak				4.0000	356.04000	1,424.16	
2914	1	Equip-it	Jon Willis					NO BID		
2927	1	ALUMINUM ATHLETIC EQUIPMENT CO	DAN MCCANN					NO BID		
2949	1	Riddell/American	J Braddy				4.0000	552.00000	2,208.00	

Event Lines

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
7	SOFTBALLS SPEC.4.2.40	101462	805-69	Softball Equipment	66.0000	DZ	CM Contract	Open	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
10	1	Bill Fritz Sports Corporation	Bill Fritz					NO BID		
1586	1	DGG Taser & Tactical Supply	Mary-Rene Ahern	2322			66.0000	NO BID		
2797	1	BSN Sports	William Rusnak				66.0000	52.34000	3,454.44	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
2914	1	Equip-it	Jon Willis					NO BID		
2927	1	ALUMINUM ATHLETIC EQUIPMENT CO	DAN MCCANN					NO BID		
2949	1	Riddell/American	J Braddy				66.0000	72.50000	4,785.00	

Event Lines

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
8	DRAG MAT SPEC. 4.2.50	101463	805-24	Baseball Equipment	1.0000	EA	CM Contract	Open	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
10	1	Bill Fritz Sports Corporation	Bill Fritz				1.0000	348.88000	348.88	
1586	1	DGG Taser & Tactical Supply	Mary-Rene Ahern	2322			1.0000	NO BID		
2797	1	BSN Sports	William Rusnak				1.0000	170.50000	170.50	
2914	1	Equip-it	Jon Willis					NO BID		
2927	1	ALUMINUM ATHLETIC EQUIPMENT CO	DAN MCCANN					NO BID		
2949	1	Riddell/American	J Braddy				1.0000	316.25000	316.25	

Event Lines

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
9	FOOTBALL S SPEC, 4.3.1	101465	805-48	Football Equipment	4.5000	DZ	CM Contract	Open	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
10	1	Bill Fritz Sports Corporation	Bill Fritz					NO BID		
1586	1	DGG Taser & Tactical Supply	Mary-Rene Ahern	2322			4.5000	NO BID		
2797	1	BSN Sports	William Rusnak				4.5000	324.84000	1,461.78	
2914	1	Equip-it	Jon Willis					NO BID		
2927	1	ALUMINUM ATHLETIC EQUIPMENT CO	DAN MCCANN					NO BID		
2949	1	Riddell/American	J Braddy				4.5000	360.00000	1,620.00	

Event Lines

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
10	FOOTBALL S SPEC, 4.3.2	101466	805-48	Football Equipment	2.0000	DZ	CM Contract	Open	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
10	1	Bill Fritz Sports Corporation	Bill Fritz					NO BID		
1586	1	DGG Taser & Tactical Supply	Mary-Rene Ahern	2322			2.0000	NO BID		
2797	1	BSN Sports	William Rusnak				2.0000	359.04000	718.08	
2914	1	Equip-it	Jon Willis					NO BID		
2927	1	ALUMINUM ATHLETIC EQUIPMENT CO	DAN MCCANN					NO BID		
2949	1	Riddell/All American	J Braddy				2.0000	27.00000	54.00	

Event Lines

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
11	FOOTBALL PANTS EXTRA SMALL	101467	805-48	Football Equipment	36.0000	EA	CM Contract	Open	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
10	1	Bill Fritz Sports Corporation	Bill Fritz					NO BID		
1586	1	DGG Taser & Tactical Supply	Mary-Rene Ahern	2322			36.0000	NO BID		

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
2797	1	BSN Sports	William Rusnak				36.0000	9.86000	354.96	
2914	1	Equip-it	Jon Willis					NO BID		
2927	1	ALUMINUM ATHLETIC EQUIPMENT CO	DAN MCCANN					NO BID		
2949	1	Riddell/American	J Braddy				36.0000	7.97000	286.92	

Event Lines

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
12	FOOTBALL PANTS SMALL	101468	805-48	Football Equipment	48.0000	EA	CM Contract	Open	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
10	1	Bill Fritz Sports Corporation	Bill Fritz					NO BID		
1586	1	DGG Taser & Tactical Supply	Mary-Rene Ahern	2322			48.0000	NO BID		
2797	1	BSN Sports	William Rusnak				48.0000	9.86000	473.28	
2914	1	Equip-it	Jon Willis					NO BID		
2927	1	ALUMINUM ATHLETIC EQUIPMENT CO	DAN MCCANN					NO BID		

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
2949	1	Riddell/All American	J Braddy				48.0000	7.97000	382.56	

Event Lines

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
13	FOOTBALL PANTS MEDIUM	101469	805-48	Football Equipment	48.0000	EA	CM Contract	Open	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
10	1	Bill Fritz Sports Corporation	Bill Fritz					NO BID		
1586	1	DGG Taser & Tactical Supply	Mary-Rene Ahern	2322			48.0000	NO BID		
2797	1	BSN Sports	William Rusnak				48.0000	9.86000	473.28	
2914	1	Equip-it	Jon Willis					NO BID		
2927	1	ALUMINUM ATHLETIC EQUIPMENT CO	DAN MCCANN					NO BID		
2949	1	Riddell/All American	J Braddy				48.0000	7.97000	382.56	

Event Lines

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
14	FOOTBALL PANTS X LARGE	101471	805-48	Football Equipment	24.0000	EA	CM Contract	Open	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
10	1	Bill Fritz Sports Corporation	Bill Fritz					NO BID		
1586	1	DGG Taser & Tactical Supply	Mary-Rene Ahern	2322			24.0000	NO BID		
2797	1	BSN Sports	William Rusnak				24.0000	9.86000	236.64	
2914	1	Equip-it	Jon Willis					NO BID		
2927	1	ALUMINUM ATHLETIC EQUIPMENT CO	DAN MCCANN					NO BID		
2949	1	Riddell/American	J Braddy				24.0000	7.97000	191.28	

Event Lines

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
15	FOOTBALL PANTS XX LARGE	101472	805-48	Football Equipment	24.0000	EA	CM Contract	Open	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
10	1	Bill Fritz Sports Corporation	Bill Fritz					NO BID		
1586	1	DGG Taser & Tactical Supply	Mary-Rene Ahern	2322			24.0000	NO BID		
2797	1	BSN Sports	William Rusnak				24.0000	9.86000	236.64	
2914	1	Equip-it	Jon Willis					NO BID		
2927	1	ALUMINUM ATHLETIC EQUIPMENT CO	DAN MCCANN					NO BID		
2949	1	Riddell/American	J Braddy				24.0000	7.97000	191.28	

Event Lines

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
16	FOOTBALL PADS SPEC. 4.3.5	101473	805-48	Football Equipment	100.0000	SET	CM Contract	Open	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
10	1	Bill Fritz Sports Corporation	Bill Fritz					NO BID		
1586	1	DGG Taser & Tactical Supply	Mary-Rene Ahern	2322			100.0000	NO BID		
2797	1	BSN Sports	William Rusnak				100.0000	5.34000	534.00	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
2914	1	Equip-it	Jon Willis					NO BID		
2927	1	ALUMINUM ATHLETIC EQUIPMENT CO	DAN MCCANN					NO BID		
2949	1	Riddell/American	J Braddy				100.0000	9.50000	950.00	

Event Lines

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
17	FOOTBALL PANTS LARGE	101470	805-48	Football Equipment	48.0000	EA	CM Contract	Open	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
10	1	Bill Fritz Sports Corporation	Bill Fritz					NO BID		
1586	1	DGG Taser & Tactical Supply	Mary-Rene Ahern	2322			48.0000	NO BID		
2797	1	BSN Sports	William Rusnak				48.0000	9.86000	473.28	
2914	1	Equip-it	Jon Willis					NO BID		
2927	1	ALUMINUM ATHLETIC EQUIPMENT CO	DAN MCCANN					NO BID		

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
2949	1	Riddell/All American	J Braddy				48.0000	7.97000	382.56	

Event Lines

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
18	FOOTBALL - SHLDR PADS 60-80 LB	101474	805-48	Football Equipment	25.0000	EA	CM Contract	Open	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
10	1	Bill Fritz Sports Corporation	Bill Fritz					NO BID		
1586	1	DGG Taser & Tactical Supply	Mary-Rene Ahern	2322			25.0000	NO BID		
2797	1	BSN Sports	William Rusnak				25.0000	23.61000	590.25	
2914	1	Equip-it	Jon Willis					NO BID		
2927	1	ALUMINUM ATHLETIC EQUIPMENT CO	DAN MCCANN					NO BID		
2949	1	Riddell/All American	J Braddy				25.0000	24.97000	624.25	

Event Lines

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
19	FOOTBALL - SHLDR PADS 80-100 LB	101475	805-48	Football Equipment	25.0000	EA	CM Contract	Open	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
10	1	Bill Fritz Sports Corporation	Bill Fritz					NO BID		
1586	1	DGG Taser & Tactical Supply	Mary-Rene Ahern	2322			25.0000	NO BID		
2797	1	BSN Sports	William Rusnak				25.0000	24.63000	615.75	
2914	1	Equip-it	Jon Willis					NO BID		
2927	1	ALUMINUM ATHLETIC EQUIPMENT CO	DAN MCCANN					NO BID		
2949	1	Riddell/All American	J Braddy				25.0000	28.97000	724.25	

Event Lines

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
20	FOOTBALL - SHLDR PADS 100-130	101476	805-48	Football Equipment	25.0000	EA	CM Contract	Open	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
10	1	Bill Fritz Sports Corporation	Bill Fritz					NO BID		
1586	1	DGG Taser & Tactical Supply	Mary-Rene Ahern	2322			25.0000	NO BID		
2797	1	BSN Sports	William Rusnak				25.0000	25.19000	629.75	
2914	1	Equip-it	Jon Willis					NO BID		
2927	1	ALUMINUM ATHLETIC EQUIPMENT CO	DAN MCCANN					NO BID		
2949	1	Riddell/American	J Braddy				25.0000	31.97000	799.25	

Event Lines

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
21	FOOTBALL - SHLDR PADS130-150 L	101477	805-48	Football Equipment	25.0000	EA	CM Contract	Open	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
10	1	Bill Fritz Sports Corporation	Bill Fritz					NO BID		
1586	1	DGG Taser & Tactical Supply	Mary-Rene Ahern	2322			25.0000	NO BID		

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
2797	1	BSN Sports	William Rusnak				25.0000	26.66000	666.50	
2914	1	Equip-it	Jon Willis					NO BID		
2927	1	ALUMINUM ATHLETIC EQUIPMENT CO	DAN MCCANN					NO BID		
2949	1	Riddell/American	J Braddy				25.0000	32.97000	824.25	

Event Lines

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
22	FOOTBALL - SHLDR PADS150-180 L	101478	805-48	Football Equipment	1.0000	EA	CM Contract	Open	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
10	1	Bill Fritz Sports Corporation	Bill Fritz					NO BID		
1586	1	DGG Taser & Tactical Supply	Mary-Rene Ahern	2322			1.0000	NO BID		
2797	1	BSN Sports	William Rusnak					NO BID		
2914	1	Equip-it	Jon Willis					NO BID		

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
2927	1	ALUMINUM ATHLETIC EQUIPMENT CO	DAN MCCANN					NO BID		
2949	1	Riddell/American	J Braddy				1.0000	33.97000	33.97	

Event Lines

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
23	DOWN MARKERS SPEC. 4.3.7	101479	805-48	Football Equipment	2.0000	SET	CM Contract	Open	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
10	1	Bill Fritz Sports Corporation	Bill Fritz					NO BID		
1586	1	DGG Taser & Tactical Supply	Mary-Rene Ahern	2322			2.0000	NO BID		
2797	1	BSN Sports	William Rusnak				2.0000	172.73000	345.46	
2914	1	Equip-it	Jon Willis					NO BID		
2927	1	ALUMINUM ATHLETIC EQUIPMENT CO	DAN MCCANN				2.0000	330.00000	660.00	
2949	1	Riddell/American	J Braddy				2.0000	200.10000	400.20	

Event Lines

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
24	FOOTBALL HELMETS SPEC. 4.3.9	101480	805-48	Football Equipment	15.0000	EA	CM Contract	Open	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
10	1	Bill Fritz Sports Corporation	Bill Fritz					NO BID		
1586	1	DGG Taser & Tactical Supply	Mary-Rene Ahern	2322			15.0000	NO BID		
2797	1	BSN Sports	William Rusnak					NO BID		
2914	1	Equip-it	Jon Willis					NO BID		
2927	1	ALUMINUM ATHLETIC EQUIPMENT CO	DAN MCCANN					NO BID		
2949	1	Riddell/American	J Braddy				15.0000	62.00000	930.00	

Event Lines

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
25	SCHUTT SIDELINE KIT SPEC. 4.3.15	101481	805-48	Football Equipment	1.0000	EA	CM Contract	Open	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
10	1	Bill Fritz Sports Corporation	Bill Fritz					NO BID		
1586	1	DGG Taser & Tactical Supply	Mary-Rene Ahern	2322			1.0000	NO BID		
2797	1	BSN Sports	William Rusnak				1.0000	189.64000	189.64	
2914	1	Equip-it	Jon Willis					NO BID		
2927	1	ALUMINUM ATHLETIC EQUIPMENT CO	DAN MCCANN					NO BID		
2949	1	Riddell/American	J Braddy				1.0000	70.50000	70.50	

Event Lines

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
26	MEGAPHONE PINS SPEC. 4.7.3	101482	805-48	Football Equipment	200.0000	EA	CM Contract	Open	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
10	1	Bill Fritz Sports Corporation	Bill Fritz					NO BID		
1586	1	DGG Taser & Tactical Supply	Mary-Rene Ahern	2322			200.0000	NO BID		
2797	1	BSN Sports	William Rusnak					NO BID		

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
2914	1	Equip-it	Jon Willis					NO BID		
2927	1	ALUMINUM ATHLETIC EQUIPMENT CO	DAN MCCANN					NO BID		
2949	1	Riddell/American	J Braddy					NO BID		

Event Lines

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
27	CATCHERS MITT SPEC 4.2.5	101484	805-24	Baseball Equipment	1.0000	DZ	CM Contract	Open	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
10	1	Bill Fritz Sports Corporation	Bill Fritz					NO BID		
1586	1	DGG Taser & Tactical Supply	Mary-Rene Ahern	2322			1.0000	NO BID		
2797	1	BSN Sports	William Rusnak				1.0000	338.76000	338.76	
2914	1	Equip-it	Jon Willis					NO BID		
2927	1	ALUMINUM ATHLETIC EQUIPMENT CO	DAN MCCANN					NO BID		

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
2949	1	Riddell/All American	J Braddy					NO BID		

Event Lines

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
28	BASEBALL MASK SPEC. 4.2.20	101485	805-24	Baseball Equipment	6.0000	EA	CM Contract	Open	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
10	1	Bill Fritz Sports Corporation	Bill Fritz					NO BID		
1586	1	DGG Taser & Tactical Supply	Mary-Rene Ahern	2322			6.0000	NO BID		
2797	1	BSN Sports	William Rusnak				6.0000	25.97000	155.82	
2914	1	Equip-it	Jon Willis					NO BID		
2927	1	ALUMINUM ATHLETIC EQUIPMENT CO	DAN MCCANN					NO BID		
2949	1	Riddell/All American	J Braddy					NO BID		

Event Lines

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
29	STANDARD GROUND ANCHORS SPEC.4.2.21	101486	805-24	Baseball Equipment	6.0000	SET	CM Contract	Open	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
10	1	Bill Fritz Sports Corporation	Bill Fritz					NO BID		
1586	1	DGG Taser & Tactical Supply	Mary-Rene Ahern	2322			6.0000	NO BID		
2797	1	BSN Sports	William Rusnak				6.0000	12.17000	73.02	
2914	1	Equip-it	Jon Willis					NO BID		
2927	1	ALUMINUM ATHLETIC EQUIPMENT CO	DAN MCCANN					NO BID		
2949	1	Riddell/All American	J Braddy				6.0000	19.97000	119.82	

Event Lines

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
30	BASES SPEC. 4.2.22	101487	805-24	Baseball Equipment	20.0000	SET	CM Contract	Open	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
10	1	Bill Fritz Sports Corporation	Bill Fritz				20.0000	158.90000	3,178.00	
1586	1	DGG Taser & Tactical Supply	Mary-Rene Ahern	2322			20.0000	NO BID		
2797	1	BSN Sports	William Rusnak				20.0000	108.17000	2,163.40	
2914	1	Equip-it	Jon Willis					NO BID		
2927	1	ALUMINUM ATHLETIC EQUIPMENT CO	DAN MCCANN					NO BID		
2949	1	Riddell/All American	J Braddy				20.0000	147.00000	2,940.00	

Event Lines

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
31	PRO DOUBLE FIRST BASE SPEC. 4.2.23	101488	805-24	Baseball Equipment	6.0000	EA	CM Contract	Open	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
10	1	Bill Fritz Sports Corporation	Bill Fritz				6.0000	128.99000	773.94	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
1586	1	DGG Taser & Tactical Supply	Mary-Rene Ahern	2322			6.0000	NO BID		
2797	1	BSN Sports	William Rusnak				6.0000	71.59000	429.54	
2914	1	Equip-it	Jon Willis					NO BID		
2927	1	ALUMINUM ATHLETIC EQUIPMENT CO	DAN MCCANN					NO BID		
2949	1	Riddell/American	J Braddy				6.0000	108.97000	653.82	

Event Lines

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
32	ANCHOR CLEAN OUTS SPEC. 4.2.24	101489	805-24	Baseball Equipment	2.0000	EA	CM Contract	Open	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
10	1	Bill Fritz Sports Corporation	Bill Fritz					NO BID		
1586	1	DGG Taser & Tactical Supply	Mary-Rene Ahern	2322			2.0000	NO BID		
2797	1	BSN Sports	William Rusnak				2.0000	3.29000	6.58	
2914	1	Equip-it	Jon Willis					NO BID		

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
2927	1	ALUMINUM ATHLETIC EQUIPMENT CO	DAN MCCANN					NO BID		
2949	1	Riddell/American	J Braddy				2.0000	8.49000	16.98	

Event Lines

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
33	BASE PLUGS SPEC. 4.2.25	101490	805-24	Baseball Equipment	15.0000	SET	CM Contract	Open	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
10	1	Bill Fritz Sports Corporation	Bill Fritz					NO BID		
1586	1	DGG Taser & Tactical Supply	Mary-Rene Ahern	2322			15.0000	NO BID		
2797	1	BSN Sports	William Rusnak				15.0000	17.86000	267.90	
2914	1	Equip-it	Jon Willis					NO BID		
2927	1	ALUMINUM ATHLETIC EQUIPMENT CO	DAN MCCANN					NO BID		
2949	1	Riddell/American	J Braddy				15.0000	29.97000	449.55	

Event Lines

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
34	HOME PLATES SPEC. 4.2.26	101491	805-24	Baseball Equipment	20.0000	EA	CM Contract	Open	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
10	1	Bill Fritz Sports Corporation	Bill Fritz					NO BID		
1586	1	DGG Taser & Tactical Supply	Mary-Rene Ahern	2322			20.0000	NO BID		
2797	1	BSN Sports	William Rusnak				20.0000	42.41000	848.20	
2914	1	Equip-it	Jon Willis					NO BID		
2927	1	ALUMINUM ATHLETIC EQUIPMENT CO	DAN MCCANN				20.0000	65.00000	1,300.00	
2949	1	Riddell/American	J Braddy				20.0000	50.00000	1,000.00	

Event Lines

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
35	HOME PLATES SPEC. 4.2.27	101492	805-24	Baseball Equipment	6.0000	EA	CM Contract	Open	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
10	1	Bill Fritz Sports Corporation	Bill Fritz					NO BID		
1586	1	DGG Taser & Tactical Supply	Mary-Rene Ahern	2322			6.0000	NO BID		
2797	1	BSN Sports	William Rusnak				6.0000	59.04000	354.24	
2914	1	Equip-it	Jon Willis					NO BID		
2927	1	ALUMINUM ATHLETIC EQUIPMENT CO	DAN MCCANN				6.0000	70.00000	420.00	
2949	1	Riddell/American	J Braddy				6.0000	48.97000	293.82	

Event Lines

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
36	PITCHING RUBBERS SPEC. 4.2.30	101493	805-24	Baseball Equipment	18.0000	EA	CM Contract	Open	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
10	1	Bill Fritz Sports Corporation	Bill Fritz					NO BID		
1586	1	DGG Taser & Tactical Supply	Mary-Rene Ahern	2322			18.0000	NO BID		
2797	1	BSN Sports	William Rusnak				18.0000	46.21000	831.78	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
2914	1	Equip-it	Jon Willis					NO BID		
2927	1	ALUMINUM ATHLETIC EQUIPMENT CO	DAN MCCANN				18.0000	18.35000	330.30	
2949	1	Riddell/American	J Braddy				18.0000	58.97000	1,061.46	

Event Lines

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
37	PITCHING RUBBERS SPEC. 4.2.31	101494	805-24	Baseball Equipment	10.0000	EA	CM Contract	Open	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
10	1	Bill Fritz Sports Corporation	Bill Fritz					NO BID		
1586	1	DGG Taser & Tactical Supply	Mary-Rene Ahern	2322			10.0000	NO BID		
2797	1	BSN Sports	William Rusnak				10.0000	34.74000	347.40	
2914	1	Equip-it	Jon Willis					NO BID		
2927	1	ALUMINUM ATHLETIC EQUIPMENT CO	DAN MCCANN				10.0000	61.00000	610.00	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
2949	1	Riddell/All American	J Braddy				10.0000	57.00000	570.00	

Event Lines

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
38	INFIELD LIP BROOM SPEC. 4.2.32	101495	805-24	Baseball Equipment	1.0000	EA	CM Contract	Open	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
10	1	Bill Fritz Sports Corporation	Bill Fritz					NO BID		
1586	1	DGG Taser & Tactical Supply	Mary-Rene Ahern	2322			1.0000	NO BID		
2797	1	BSN Sports	William Rusnak				1.0000	77.17000	77.17	
2914	1	Equip-it	Jon Willis					NO BID		
2927	1	ALUMINUM ATHLETIC EQUIPMENT CO	DAN MCCANN					NO BID		
2949	1	Riddell/All American	J Braddy				1.0000	125.47000	125.47	

Event Lines

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
39	CATCHERS HELMETS SPEC. 4.2.34	101496	805-24	Baseball Equipment	2.0000	DZ	CM Contract	Open	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
10	1	Bill Fritz Sports Corporation	Bill Fritz					NO BID		
1586	1	DGG Taser & Tactical Supply	Mary-Rene Ahern	2322			2.0000	NO BID		
2797	1	BSN Sports	William Rusnak				2.0000	311.64000	623.28	
2914	1	Equip-it	Jon Willis					NO BID		
2927	1	ALUMINUM ATHLETIC EQUIPMENT CO	DAN MCCANN					NO BID		
2949	1	Riddell/American	J Braddy				2.0000	300.00000	600.00	

Event Lines

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
40	BASEBALL/SOFTBALL SCOREBOOKS SPEC. 4.2.39	101497	805-24	Baseball Equipment	15.0000	DZ	CM Contract	Open	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
10	1	Bill Fritz Sports Corporation	Bill Fritz					NO BID		
1586	1	DGG Taser & Tactical Supply	Mary-Rene Ahern	2322			15.0000	NO BID		
2797	1	BSN Sports	William Rusnak				15.0000	33.12000	496.80	
2914	1	Equip-it	Jon Willis					NO BID		
2927	1	ALUMINUM ATHLETIC EQUIPMENT CO	DAN MCCANN					NO BID		
2949	1	Riddell/All American	J Braddy				15.0000	50.76000	761.40	

Event Lines

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
41	4-WHEEL LINE MARKER SPEC. 4.2.43	101498	805-24	Baseball Equipment	1.0000	EA	CM Contract	Open	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
10	1	Bill Fritz Sports Corporation	Bill Fritz				1.0000	391.99000	391.99	
1586	1	DGG Taser & Tactical Supply	Mary-Rene Ahern	2322			1.0000	NO BID		

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
2797	1	BSN Sports	William Rusnak				1.0000	235.88000	235.88	
2914	1	Equip-it	Jon Willis					NO BID		
2927	1	ALUMINUM ATHLETIC EQUIPMENT CO	DAN MCCANN					NO BID		
2949	1	Riddell/American	J Braddy					NO BID		

Event Lines

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
42	NET PROTECTOR SPEC. 4.2.47	101499	805-24	Baseball Equipment	2.0000	EA	CM Contract	Open	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
10	1	Bill Fritz Sports Corporation	Bill Fritz					NO BID		
1586	1	DGG Taser & Tactical Supply	Mary-Rene Ahern	2322			2.0000	NO BID		
2797	1	BSN Sports	William Rusnak				2.0000	171.67000	343.34	
2914	1	Equip-it	Jon Willis					NO BID		

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
2927	1	ALUMINUM ATHLETIC EQUIPMENT CO	DAN MCCANN					NO BID		
2949	1	Riddell/American	J Braddy					NO BID		

Event Lines

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
43	NET PROTECTOR SPEC. 4.2.48	101500	805-24	Baseball Equipment	2.0000	EA	CM Contract	Open	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
10	1	Bill Fritz Sports Corporation	Bill Fritz					NO BID		
1586	1	DGG Taser & Tactical Supply	Mary-Rene Ahern	2322			2.0000	NO BID		
2797	1	BSN Sports	William Rusnak				2.0000	129.73000	259.46	
2914	1	Equip-it	Jon Willis					NO BID		
2927	1	ALUMINUM ATHLETIC EQUIPMENT CO	DAN MCCANN					NO BID		

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
2949	1	Riddell/All American	J Braddy					NO BID		

Event Lines

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
44	SKYSCAN SPEC. 4.2.49	101501	805-24	Baseball Equipment	2.0000	EA	CM Contract	Open	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
10	1	Bill Fritz Sports Corporation	Bill Fritz				2.0000	229.00000	458.00	
1586	1	DGG Taser & Tactical Supply	Mary-Rene Ahern	2322			2.0000	NO BID		
2797	1	BSN Sports	William Rusnak				2.0000	179.75000	359.50	
2914	1	Equip-it	Jon Willis					NO BID		
2927	1	ALUMINUM ATHLETIC EQUIPMENT CO	DAN MCCANN					NO BID		
2949	1	Riddell/All American	J Braddy					NO BID		

Event Lines

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
45	FIELD STRIPING PAINT SPEC. 4.2.51	101502	805-24	Baseball Equipment	20.0000	DZ	CM Contract	Open	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
10	1	Bill Fritz Sports Corporation	Bill Fritz					NO BID		
1586	1	DGG Taser & Tactical Supply	Mary-Rene Ahern	2322			20.0000	NO BID		
2797	1	BSN Sports	William Rusnak				20.0000	37.32000	746.40	
2914	1	Equip-it	Jon Willis					NO BID		
2927	1	ALUMINUM ATHLETIC EQUIPMENT CO	DAN MCCANN					NO BID		
2949	1	Riddell/American	J Braddy					NO BID		

Event Lines

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
46	FOOTBALL SHOULDER PAD LACES SPEC. 4.3.11	101503	805-48	Football Equipment	2.0000	DZ	CM Contract	Open	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
10	1	Bill Fritz Sports Corporation	Bill Fritz					NO BID		
1586	1	DGG Taser & Tactical Supply	Mary-Rene Ahern	2322			2.0000	NO BID		
2797	1	BSN Sports	William Rusnak				2.0000	12.03000	24.06	
2914	1	Equip-it	Jon Willis					NO BID		
2927	1	ALUMINUM ATHLETIC EQUIPMENT CO	DAN MCCANN					NO BID		
2949	1	Riddell/American	J Braddy					NO BID		

Event Lines

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
47	FOOTBALL CHIN STRAPS ACCESS. 4.3.13	101504	805-48	Football Equipment	75.0000	EA	CM Contract	Open	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
10	1	Bill Fritz Sports Corporation	Bill Fritz					NO BID		

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
1586	1	DGG Taser & Tactical Supply	Mary-Rene Ahern	2322			75.0000	NO BID		
2797	1	BSN Sports	William Rusnak				75.0000	7.46000	559.50	
2914	1	Equip-it	Jon Willis					NO BID		
2927	1	ALUMINUM ATHLETIC EQUIPMENT CO	DAN MCCANN					NO BID		
2949	1	Riddell/American	J Braddy					NO BID		

Event Lines

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
48	FOOTBALL CHIN STRAPS SPEC. 4.3.14	101505	805-48	Football Equipment	3.0000	DZ	CM Contract	Open	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
10	1	Bill Fritz Sports Corporation	Bill Fritz					NO BID		
1586	1	DGG Taser & Tactical Supply	Mary-Rene Ahern	2322			3.0000	NO BID		
2797	1	BSN Sports	William Rusnak				3.0000	29.16000	87.48	
2914	1	Equip-it	Jon Willis					NO BID		

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
2927	1	ALUMINUM ATHLETIC EQUIPMENT CO	DAN MCCANN					NO BID		
2949	1	Riddell/American	J Braddy					NO BID		

Event Lines

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
49	MOUTHPIECES SPEC. 4.3.17	101506	805-48	Football Equipment	150.0000	EA	CM Contract	Open	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
10	1	Bill Fritz Sports Corporation	Bill Fritz					NO BID		
1586	1	DGG Taser & Tactical Supply	Mary-Rene Ahern	2322			150.0000	NO BID		
2797	1	BSN Sports	William Rusnak				150.0000	0.29000	43.50	
2914	1	Equip-it	Jon Willis					NO BID		
2927	1	ALUMINUM ATHLETIC EQUIPMENT CO	DAN MCCANN					NO BID		
2949	1	Riddell/American	J Braddy				150.0000	0.35000	52.50	

Event Lines

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
50	FOOTBALL SHOULDER PAD STRAPPING SPEC 4.3.19	101507	805-48	Football Equipment	2.0000	RL	CM Contract	Open	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
10	1	Bill Fritz Sports Corporation	Bill Fritz					NO BID		
1586	1	DGG Taser & Tactical Supply	Mary-Rene Ahern	2322			2.0000	NO BID		
2797	1	BSN Sports	William Rusnak					NO BID		
2914	1	Equip-it	Jon Willis					NO BID		
2927	1	ALUMINUM ATHLETIC EQUIPMENT CO	DAN MCCANN					NO BID		
2949	1	Riddell/American	J Braddy				2.0000	50.00000	100.00	

Event Lines

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
51	BASKETBALLS SPEC. 4.4.2	101508	805-30	Basketball Equipment (Including Backboards and Backstops)	4.0000	DZ	CM Contract	Open	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
10	1	Bill Fritz Sports Corporation	Bill Fritz					NO BID		
1586	1	DGG Taser & Tactical Supply	Mary-Rene Ahern	2322			4.0000	NO BID		
2797	1	BSN Sports	William Rusnak				4.0000	110.52000	442.08	
2914	1	Equip-it	Jon Willis					NO BID		
2927	1	ALUMINUM ATHLETIC EQUIPMENT CO	DAN MCCANN					NO BID		
2949	1	Riddell/American	J Braddy				4.0000	285.00000	1,140.00	

Event Lines

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
52	BASKETBALLS SPEC. 4.4.3	101509	805-30	Basketball Equipment (Including Backboards and Backstops)	2.5000	DZ	CM Contract	Open	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
10	1	Bill Fritz Sports Corporation	Bill Fritz					NO BID		

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
1586	1	DGG Taser & Tactical Supply	Mary-Rene Ahern	2322			2.5000	NO BID		
2797	1	BSN Sports	William Rusnak				2.5000	113.88000	284.70	
2914	1	Equip-it	Jon Willis					NO BID		
2927	1	ALUMINUM ATHLETIC EQUIPMENT CO	DAN MCCANN					NO BID		
2949	1	Riddell/American	J Braddy				2.5000	285.00000	712.50	

Event Lines

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
53	BASKETBALL GOALS SPEC. 4.4.5	101510	805-30	Basketball Equipment (Including Backboards and Backstops)	4.0000	EA	CM Contract	Open	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
10	1	Bill Fritz Sports Corporation	Bill Fritz					NO BID		
1586	1	DGG Taser & Tactical Supply	Mary-Rene Ahern	2322			4.0000	NO BID		
2797	1	BSN Sports	William Rusnak				4.0000	87.37000	349.48	
2914	1	Equip-it	Jon Willis				4.0000	148.00000	592.00	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
2927	1	ALUMINUM ATHLETIC EQUIPMENT CO	DAN MCCANN					NO BID		
2949	1	Riddell/American	J Braddy					NO BID		

Event Lines

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
54	CENTER STRAPS SPEC. 4.5.2	101511	805-78	Tennis Equipment	3.0000	DZ	CM Contract	Open	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
10	1	Bill Fritz Sports Corporation	Bill Fritz					NO BID		
1586	1	DGG Taser & Tactical Supply	Mary-Rene Ahern	2322			3.0000	NO BID		
2797	1	BSN Sports	William Rusnak				3.0000	40.20000	120.60	
2914	1	Equip-it	Jon Willis					NO BID		
2927	1	ALUMINUM ATHLETIC EQUIPMENT CO	DAN MCCANN					NO BID		
2949	1	Riddell/American	J Braddy					NO BID		

Event Lines

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
55	ROL-DRI WATER REMOVAL UNITS SPEC 4.5.4	101512	805-78	Tennis Equipment	10.0000	EA	CM Contract	Open	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
10	1	Bill Fritz Sports Corporation	Bill Fritz					NO BID		
1586	1	DGG Taser & Tactical Supply	Mary-Rene Ahern	2322			10.0000	NO BID		
2797	1	BSN Sports	William Rusnak				10.0000	42.22000	422.20	
2914	1	Equip-it	Jon Willis				10.0000	50.00000	500.00	
2927	1	ALUMINUM ATHLETIC EQUIPMENT CO	DAN MCCANN					NO BID		
2949	1	Riddell/American	J Braddy					NO BID		

Event Lines

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
56	ROL-DRI REPLACEMENT ROLLER SPEC 4.5.5	101513	805-78	Tennis Equipment	1.0000	DZ	CM Contract	Open	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
10	1	Bill Fritz Sports Corporation	Bill Fritz					NO BID		
1586	1	DGG Taser & Tactical Supply	Mary-Rene Ahern	2322			1.0000	NO BID		
2797	1	BSN Sports	William Rusnak				1.0000	237.24000	237.24	
2914	1	Equip-it	Jon Willis				1.0000	300.00000	300.00	
2927	1	ALUMINUM ATHLETIC EQUIPMENT CO	DAN MCCANN					NO BID		
2949	1	Riddell/All American	J Braddy					NO BID		

Event Lines

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
57	SOCCER CORNER FLAGS-SPEC. 4.5.13	101515	805-66	Soccer Equipment	10.0000	SET	CM Contract	Open	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
10	1	Bill Fritz Sports Corporation	Bill Fritz					NO BID		
1586	1	DGG Taser & Tactical Supply	Mary-Rene Ahern	2322			10.0000	NO BID		

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
2797	1	BSN Sports	William Rusnak				10.0000	15.53000	155.30	
2914	1	Equip-it	Jon Willis				10.0000	98.00000	980.00	
2927	1	ALUMINUM ATHLETIC EQUIPMENT CO	DAN MCCANN				10.0000	85.00000	850.00	
2949	1	Riddell/American	J Braddy				10.0000	42.55000	425.50	

Event Lines

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
58	PITCHING MCH SPEC. 4.2.42	102618	805-24	Baseball Equipment	2.0000	EA	CM Contract	Open	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
10	1	Bill Fritz Sports Corporation	Bill Fritz				2.0000	958.99000	1,917.98	
1586	1	DGG Taser & Tactical Supply	Mary-Rene Ahern	2322			2.0000	NO BID		
2797	1	BSN Sports	William Rusnak				2.0000	991.42000	1,982.84	
2914	1	Equip-it	Jon Willis					NO BID		
2927	1	ALUMINUM ATHLETIC EQUIPMENT CO	DAN MCCANN					NO BID		

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
2949	1	Riddell/All American	J Braddy				2.0000	1264.42000	2,528.84	

Event Lines

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
59	BASKETBALL NETS-SPEC 4.4.4	102620	805-30	Basketball Equipment (Including Backboards and Backstops)	4.0000	DZ	CM Contract	Open	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
10	1	Bill Fritz Sports Corporation	Bill Fritz					NO BID		
1586	1	DGG Taser & Tactical Supply	Mary-Rene Ahern	2322			4.0000	NO BID		
2797	1	BSN Sports	William Rusnak				4.0000	9.84000	39.36	
2914	1	Equip-it	Jon Willis				4.0000	96.00000	384.00	
2927	1	ALUMINUM ATHLETIC EQUIPMENT CO	DAN MCCANN					NO BID		
2949	1	Riddell/All American	J Braddy					NO BID		

Event Lines

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
60	TENNIS BALL BASKETS SPEC. 4.5.7	102621	805-78	Tennis Equipment	6.0000	EA	CM Contract	Open	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
10	1	Bill Fritz Sports Corporation	Bill Fritz					NO BID		
1586	1	DGG Taser & Tactical Supply	Mary-Rene Ahern	2322			6.0000	NO BID		
2797	1	BSN Sports	William Rusnak				6.0000	25.61000	153.66	
2914	1	Equip-it	Jon Willis					NO BID		
2927	1	ALUMINUM ATHLETIC EQUIPMENT CO	DAN MCCANN					NO BID		
2949	1	Riddell/All American	J Braddy					NO BID		

Event Lines

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
61	SOCCER GOALS SPEC 4.5.12	102624	805-66	Soccer Equipment	2.0000	PR	CM Contract	Open	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
10	1	Bill Fritz Sports Corporation	Bill Fritz					NO BID		
1586	1	DGG Taser & Tactical Supply	Mary-Rene Ahern	2322			2.0000	NO BID		
2797	1	BSN Sports	William Rusnak				2.0000	1839.96000	3,679.92	
2914	1	Equip-it	Jon Willis				2.0000	2700.00000	5,400.00	
2927	1	ALUMINUM ATHLETIC EQUIPMENT CO	DAN MCCANN				2.0000	3500.00000	7,000.00	
2949	1	Riddell/American	J Braddy					NO BID		

Event Lines

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
62	CATCHERS MITT SPEC 4.2.6	101520	805-24	Baseball Equipment	1.0000	DZ	CM Contract	Open	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
10	1	Bill Fritz Sports Corporation	Bill Fritz					NO BID		
1586	1	DGG Taser & Tactical Supply	Mary-Rene Ahern	2322			1.0000	NO BID		
2797	1	BSN Sports	William Rusnak				1.0000	386.16000	386.16	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
2914	1	Equip-it	Jon Willis					NO BID		
2927	1	ALUMINUM ATHLETIC EQUIPMENT CO	DAN MCCANN					NO BID		
2949	1	Riddell/American	J Braddy					NO BID		

Event Lines

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
63	PITCHING MOUNDS SPEC. 4.2.46	101521	805-24	Baseball Equipment	4.0000	EA	CM Contract	Open	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
10	1	Bill Fritz Sports Corporation	Bill Fritz					NO BID		
1586	1	DGG Taser & Tactical Supply	Mary-Rene Ahern	2322			4.0000	NO BID		
2797	1	BSN Sports	William Rusnak				4.0000	884.06000	3,536.24	
2914	1	Equip-it	Jon Willis					NO BID		
2927	1	ALUMINUM ATHLETIC EQUIPMENT CO	DAN MCCANN				4.0000	54.65000	218.60	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
2949	1	Riddell/All American	J Braddy					NO BID		

Event Lines

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
64	LEG GUARDS SPEC 4.2.12	101526	805-24	Baseball Equipment	18.0000	EA	CM Contract	Open	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
10	1	Bill Fritz Sports Corporation	Bill Fritz					NO BID		
1586	1	DGG Taser & Tactical Supply	Mary-Rene Ahern	2322			18.0000	NO BID		
2797	1	BSN Sports	William Rusnak				18.0000	201.48000	3,626.64	
2914	1	Equip-it	Jon Willis					NO BID		
2927	1	ALUMINUM ATHLETIC EQUIPMENT CO	DAN MCCANN					NO BID		
2949	1	Riddell/All American	J Braddy				18.0000	14.00000	252.00	

Event Lines

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
65	LEG GUARDS SPEC 4.2.13	101527	805-24	Baseball Equipment	18.0000	EA	CM Contract	Open	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
10	1	Bill Fritz Sports Corporation	Bill Fritz					NO BID		
1586	1	DGG Taser & Tactical Supply	Mary-Rene Ahern	2322			18.0000	NO BID		
2797	1	BSN Sports	William Rusnak				18.0000	22.42000	403.56	
2914	1	Equip-it	Jon Willis					NO BID		
2927	1	ALUMINUM ATHLETIC EQUIPMENT CO	DAN MCCANN					NO BID		
2949	1	Riddell/American	J Braddy				18.0000	14.00000	252.00	

Event Lines

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
66	LEG GUARDS SPEC. 4.2.14	101528	805-24	Baseball Equipment	2.0000	DZ	CM Contract	Open	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
10	1	Bill Fritz Sports Corporation	Bill Fritz					NO BID		
1586	1	DGG Taser & Tactical Supply	Mary-Rene Ahern	2322			2.0000	NO BID		
2797	1	BSN Sports	William Rusnak				2.0000	33.60000	67.20	
2914	1	Equip-it	Jon Willis					NO BID		
2927	1	ALUMINUM ATHLETIC EQUIPMENT CO	DAN MCCANN					NO BID		
2949	1	Riddell/All American	J Braddy				2.0000	240.00000	480.00	

Event Lines

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
67	BODY PROTECTORS SPEC 4.2.16	101529	805-24	Baseball Equipment	2.0000	DZ	CM Contract	Open	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
10	1	Bill Fritz Sports Corporation	Bill Fritz					NO BID		
1586	1	DGG Taser & Tactical Supply	Mary-Rene Ahern	2322			2.0000	NO BID		

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
2797	1	BSN Sports	William Rusnak				2.0000	24.03000	48.06	
2914	1	Equip-it	Jon Willis					NO BID		
2927	1	ALUMINUM ATHLETIC EQUIPMENT CO	DAN MCCANN					NO BID		
2949	1	Riddell/American	J Braddy				2.0000	120.00000	240.00	

Event Lines

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
68	BODY PROTECTORS SPEC. 4.2.17	101530	805-24	Baseball Equipment	1.0000	DZ	CM Contract	Open	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
10	1	Bill Fritz Sports Corporation	Bill Fritz					NO BID		
1586	1	DGG Taser & Tactical Supply	Mary-Rene Ahern	2322			1.0000	NO BID		
2797	1	BSN Sports	William Rusnak				1.0000	300.60000	300.60	
2914	1	Equip-it	Jon Willis					NO BID		

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
2927	1	ALUMINUM ATHLETIC EQUIPMENT CO	DAN MCCANN					NO BID		
2949	1	Riddell/American	J Braddy				1.0000	180.00000	180.00	

Event Lines

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
69	BODY PROTECTORS SPEC. 4.2.18	101531	805-24	Baseball Equipment	1.0000	EA	CM Contract	Open	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
10	1	Bill Fritz Sports Corporation	Bill Fritz					NO BID		
1586	1	DGG Taser & Tactical Supply	Mary-Rene Ahern	2322			1.0000	NO BID		
2797	1	BSN Sports	William Rusnak				1.0000	357.72000	357.72	
2914	1	Equip-it	Jon Willis					NO BID		
2927	1	ALUMINUM ATHLETIC EQUIPMENT CO	DAN MCCANN					NO BID		

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
2949	1	Riddell/All American	J Braddy				1.0000	11.00000	11.00	

Event Lines

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
70	BODY PROTECTORS SPEC. 4.2.19	101532	805-24	Baseball Equipment	1.0000	DZ	CM Contract	Open	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
10	1	Bill Fritz Sports Corporation	Bill Fritz					NO BID		
1586	1	DGG Taser & Tactical Supply	Mary-Rene Ahern	2322			1.0000	NO BID		
2797	1	BSN Sports	William Rusnak				1.0000	349.32000	349.32	
2914	1	Equip-it	Jon Willis					NO BID		
2927	1	ALUMINUM ATHLETIC EQUIPMENT CO	DAN MCCANN					NO BID		
2949	1	Riddell/All American	J Braddy				1.0000	150.00000	150.00	

Event Lines

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
71	ANCHORLE SS PYLON SPEC. 4.3.8	101533	805-48	Football Equipment	12.0000	EA	CM Contract	Open	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
10	1	Bill Fritz Sports Corporation	Bill Fritz					NO BID		
1586	1	DGG Taser & Tactical Supply	Mary-Rene Ahern	2322			12.0000	NO BID		
2797	1	BSN Sports	William Rusnak				12.0000	21.61000	259.32	
2914	1	Equip-it	Jon Willis					NO BID		
2927	1	ALUMINUM ATHLETIC EQUIPMENT CO	DAN MCCANN				12.0000	10.35000	124.20	
2949	1	Riddell/American	J Braddy				12.0000	18.97000	227.64	

Event Lines

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
72	FOOTBALL HELMETS SPEC. 4.3.10	101534	805-48	Football Equipment	20.0000	EA	CM Contract	Open	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
10	1	Bill Fritz Sports Corporation	Bill Fritz					NO BID		
1586	1	DGG Taser & Tactical Supply	Mary-Rene Ahern	2322			20.0000	NO BID		
2797	1	BSN Sports	William Rusnak					NO BID		
2914	1	Equip-it	Jon Willis					NO BID		
2927	1	ALUMINUM ATHLETIC EQUIPMENT CO	DAN MCCANN					NO BID		
2949	1	Riddell/American	J Braddy				20.0000	72.00000	1,440.00	

Event Lines

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
73	FOOTBALL 1" T-HOOKS SPEC. 4.3.12	101535	805-48	Football Equipment	75.0000	EA	CM Contract	Open	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
10	1	Bill Fritz Sports Corporation	Bill Fritz					NO BID		
1586	1	DGG Taser & Tactical Supply	Mary-Rene Ahern	2322			75.0000	NO BID		

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
2797	1	BSN Sports	William Rusnak				75.0000	31.86000	2,389.50	
2914	1	Equip-it	Jon Willis					NO BID		
2927	1	ALUMINUM ATHLETIC EQUIPMENT CO	DAN MCCANN					NO BID		
2949	1	Riddell/American	J Braddy				75.0000	0.40000	30.00	

Event Lines

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
74	HELMET INFLATOR SPEC 4.3.18	101536	805-48	Football Equipment	2.0000	EA	CM Contract	Open	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
10	1	Bill Fritz Sports Corporation	Bill Fritz					NO BID		
1586	1	DGG Taser & Tactical Supply	Mary-Rene Ahern	2322			2.0000	NO BID		
2797	1	BSN Sports	William Rusnak				2.0000	12.22000	24.44	
2914	1	Equip-it	Jon Willis					NO BID		
2927	1	ALUMINUM ATHLETIC EQUIPMENT CO	DAN MCCANN					NO BID		

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
2949	1	Riddell/All American	J Braddy				2.0000	5.97000	11.94	

Event Lines

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
75	UNIVERSAL JAW PADS SPEC. 4.3.22	101537	805-48	Football Equipment	6.0000	DZ	CM Contract	Open	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
10	1	Bill Fritz Sports Corporation	Bill Fritz					NO BID		
1586	1	DGG Taser & Tactical Supply	Mary-Rene Ahern	2322			6.0000	NO BID		
2797	1	BSN Sports	William Rusnak				6.0000	37.90000	227.40	
2914	1	Equip-it	Jon Willis					NO BID		
2927	1	ALUMINUM ATHLETIC EQUIPMENT CO	DAN MCCANN					NO BID		
2949	1	Riddell/All American	J Braddy				6.0000	12.00000	72.00	

Event Lines

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
76	SHOW POMS SPEC. 4.7.1	101541	805-23	Bags, Sports Equipment	120.0000	EA	CM Contract	Open	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
10	1	Bill Fritz Sports Corporation	Bill Fritz					NO BID		
1586	1	DGG Taser & Tactical Supply	Mary-Rene Ahern	2322			120.0000	NO BID		
2797	1	BSN Sports	William Rusnak					NO BID		
2914	1	Equip-it	Jon Willis					NO BID		
2927	1	ALUMINUM ATHLETIC EQUIPMENT CO	DAN MCCANN					NO BID		
2949	1	Riddell/American	J Braddy					NO BID		

Event Lines

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
77	ROOTER POMS SPEC. 4.7.2	101542	805-23	Bags, Sports Equipment	100.0000	EA	CM Contract	Open	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
10	1	Bill Fritz Sports Corporation	Bill Fritz					NO BID		
1586	1	DGG Taser & Tactical Supply	Mary-Rene Ahern	2322			100.0000	NO BID		
2797	1	BSN Sports	William Rusnak					NO BID		
2914	1	Equip-it	Jon Willis					NO BID		
2927	1	ALUMINUM ATHLETIC EQUIPMENT CO	DAN MCCANN					NO BID		
2949	1	Riddell/American	J Braddy					NO BID		

Event Lines

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
78	BATTING HELMETS SPEC. 4.2.37	101543	805-24	Baseball Equipment	12.0000	DZ	CM Contract	Open	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
10	1	Bill Fritz Sports Corporation	Bill Fritz					NO BID		
1586	1	DGG Taser & Tactical Supply	Mary-Rene Ahern	2322			12.0000	NO BID		
2797	1	BSN Sports	William Rusnak				12.0000	202.80000	2,433.60	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
2914	1	Equip-it	Jon Willis					NO BID		
2927	1	ALUMINUM ATHLETIC EQUIPMENT CO	DAN MCCANN					NO BID		
2949	1	Riddell/American	J Braddy				12.0000	218.00000	2,616.00	

Event Lines

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
79	BATTING HELMETS SPEC 4.2.38	101544	805-24	Baseball Equipment	6.0000	EA	CM Contract	Open	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
10	1	Bill Fritz Sports Corporation	Bill Fritz					NO BID		
1586	1	DGG Taser & Tactical Supply	Mary-Rene Ahern	2322			6.0000	NO BID		
2797	1	BSN Sports	William Rusnak				6.0000	14.89000	89.34	
2914	1	Equip-it	Jon Willis					NO BID		
2927	1	ALUMINUM ATHLETIC EQUIPMENT CO	DAN MCCANN					NO BID		

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
2949	1	Riddell/All American	J Braddy				6.0000	13.00000	78.00	

Event Lines

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
80	MEASURING TAPES SPEC 4.2.45	101545	805-48	Football Equipment	1.0000	EA	CM Contract	Open	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
10	1	Bill Fritz Sports Corporation	Bill Fritz					NO BID		
1586	1	DGG Taser & Tactical Supply	Mary-Rene Ahern	2322			1.0000	NO BID		
2797	1	BSN Sports	William Rusnak				1.0000	19.44000	19.44	
2914	1	Equip-it	Jon Willis					NO BID		
2927	1	ALUMINUM ATHLETIC EQUIPMENT CO	DAN MCCANN					NO BID		
2949	1	Riddell/All American	J Braddy				1.0000	34.75000	34.75	

Event Lines

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
81	KICKING TEES SPEC 4.3.16	101547	805-48	Football Equipment	6.0000	EA	CM Contract	Open	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
10	1	Bill Fritz Sports Corporation	Bill Fritz					NO BID		
1586	1	DGG Taser & Tactical Supply	Mary-Rene Ahern	2322			6.0000	NO BID		
2797	1	BSN Sports	William Rusnak				6.0000	1.33000	7.98	
2914	1	Equip-it	Jon Willis					NO BID		
2927	1	ALUMINUM ATHLETIC EQUIPMENT CO	DAN MCCANN					NO BID		
2949	1	Riddell/American	J Braddy				6.0000	3.00000	18.00	

Event Lines

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
82	BASKETBALL SCOREBOOKS SPEC. 4.4.1	101548	805-30	Basketball Equipment (Including Backboards and Backstops)	10.0000	DZ	CM Contract	Open	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
10	1	Bill Fritz Sports Corporation	Bill Fritz					NO BID		
1586	1	DGG Taser & Tactical Supply	Mary-Rene Ahern	2322			10.0000	NO BID		
2797	1	BSN Sports	William Rusnak				10.0000	32.52000	325.20	
2914	1	Equip-it	Jon Willis					NO BID		
2927	1	ALUMINUM ATHLETIC EQUIPMENT CO	DAN MCCANN					NO BID		
2949	1	Riddell/American	J Braddy				10.0000	50.76000	507.60	

Event Lines

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
83	EQUIPMENT BAGS SPEC 4.6.1	101552	805-23	Bags, Sports Equipment	6.0000	EA	CM Contract	Open	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
10	1	Bill Fritz Sports Corporation	Bill Fritz					NO BID		
1586	1	DGG Taser & Tactical Supply	Mary-Rene Ahern	2322			6.0000	NO BID		
2797	1	BSN Sports	William Rusnak				6.0000	2.49000	14.94	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
2914	1	Equip-it	Jon Willis					NO BID		
2927	1	ALUMINUM ATHLETIC EQUIPMENT CO	DAN MCCANN					NO BID		
2949	1	Riddell/American	J Braddy					NO BID		

Event Lines

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
84	FOOTBALL PANTS-N SPEC 4.3.4		200-10	Athletic Clothing	48.0000	EA	CM Contract	Open	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
10	1	Bill Fritz Sports Corporation	Bill Fritz					NO BID		
1586	1	DGG Taser & Tactical Supply	Mary-Rene Ahern	2322			48.0000	NO BID		
2797	1	BSN Sports	William Rusnak					NO BID		
2914	1	Equip-it	Jon Willis					NO BID		
2927	1	ALUMINUM ATHLETIC EQUIPMENT CO	DAN MCCANN					NO BID		

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
2949	1	Riddell/All American	J Braddy				48.0000	7.97000	382.56	

Event Lines

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
85	TEACHING CARTS SPEC 4.5.8	101549	805-78	Tennis Equipment	1.0000	EA	CM Contract	Open	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
10	1	Bill Fritz Sports Corporation	Bill Fritz					NO BID		
1586	1	DGG Taser & Tactical Supply	Mary-Rene Ahern	2322			1.0000	NO BID		
2797	1	BSN Sports	William Rusnak				1.0000	70.33000	70.33	
2914	1	Equip-it	Jon Willis					NO BID		
2927	1	ALUMINUM ATHLETIC EQUIPMENT CO	DAN MCCANN					NO BID		
2949	1	Riddell/All American	J Braddy					NO BID		

Event Lines

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
93	CATCHER'S MITTS-SPEC 4.2.7		931-11	Athletic and Sporting Goods Equipment and Accessories (Shoul	1.0000	DZ	CM Contract	Open	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
10	1	Bill Fritz Sports Corporation	Bill Fritz					NO BID		
1586	1	DGG Taser & Tactical Supply	Mary-Rene Ahern	2322			1.0000	NO BID		
2797	1	BSN Sports	William Rusnak				1.0000	397.56000	397.56	
2914	1	Equip-it	Jon Willis					NO BID		
2927	1	ALUMINUM ATHLETIC EQUIPMENT CO	DAN MCCANN					NO BID		
2949	1	Riddell/American	J Braddy					NO BID		

Event Lines

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
94	CATCHER'S MITTS SPEC 4.2.8		805-23	Bags, Sports Equipment	1.0000	DZ	CM Contract	Open	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
10	1	Bill Fritz Sports Corporation	Bill Fritz					NO BID		
1586	1	DGG Taser & Tactical Supply	Mary-Rene Ahern	2322			1.0000	NO BID		
2797	1	BSN Sports	William Rusnak				1.0000	338.76000	338.76	
2914	1	Equip-it	Jon Willis					NO BID		
2927	1	ALUMINUM ATHLETIC EQUIPMENT CO	DAN MCCANN					NO BID		
2949	1	Riddell/American	J Braddy					NO BID		

Event Lines

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
95	CATCHER'S MITT SPEC 4.2.9		805-23	Bags, Sports Equipment	1.0000	EA	CM Contract	Open	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
10	1	Bill Fritz Sports Corporation	Bill Fritz					NO BID		
1586	1	DGG Taser & Tactical Supply	Mary-Rene Ahern	2322			1.0000	NO BID		
2797	1	BSN Sports	William Rusnak				1.0000	32.32000	32.32	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
2914	1	Equip-it	Jon Willis					NO BID		
2927	1	ALUMINUM ATHLETIC EQUIPMENT CO	DAN MCCANN					NO BID		
2949	1	Riddell/American	J Braddy					NO BID		

Event Lines

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
96	CATCHER'S MITT SPEC 4.2.10		805-23	Bags, Sports Equipment	1.0000	EA	CM Contract	Open	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
10	1	Bill Fritz Sports Corporation	Bill Fritz					NO BID		
1586	1	DGG Taser & Tactical Supply	Mary-Rene Ahern	2322			1.0000	NO BID		
2797	1	BSN Sports	William Rusnak				1.0000	33.40000	33.40	
2914	1	Equip-it	Jon Willis					NO BID		
2927	1	ALUMINUM ATHLETIC EQUIPMENT CO	DAN MCCANN					NO BID		

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
2949	1	Riddell/All American	J Braddy					NO BID		

Event Lines

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
97	CATCHER'S MITT SPEC 4.2.11		805-23	Bags, Sports Equipment	2.0000	EA	CM Contract	Open	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
10	1	Bill Fritz Sports Corporation	Bill Fritz					NO BID		
1586	1	DGG Taser & Tactical Supply	Mary-Rene Ahern	2322			2.0000	NO BID		
2797	1	BSN Sports	William Rusnak				2.0000	37.82000	75.64	
2914	1	Equip-it	Jon Willis					NO BID		
2927	1	ALUMINUM ATHLETIC EQUIPMENT CO	DAN MCCANN					NO BID		
2949	1	Riddell/All American	J Braddy					NO BID		

Event Lines

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
98	LEG GUARDS SPEC 4.2.15		805-23	Bags, Sports Equipment	1.0000	DZ	CM Contract	Open	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
10	1	Bill Fritz Sports Corporation	Bill Fritz					NO BID		
1586	1	DGG Taser & Tactical Supply	Mary-Rene Ahern	2322			1.0000	NO BID		
2797	1	BSN Sports	William Rusnak				1.0000	319.44000	319.44	
2914	1	Equip-it	Jon Willis					NO BID		
2927	1	ALUMINUM ATHLETIC EQUIPMENT CO	DAN MCCANN					NO BID		
2949	1	Riddell/American	J Braddy				1.0000	228.00000	228.00	

Event Lines

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
99	INDOOR SCOREBOARD SPEC 4.4.6		805-63	Scoreboards, Sports	1.0000	EA	CM Contract	Open	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
10	1	Bill Fritz Sports Corporation	Bill Fritz				1.0000	838.00000	838.00	
1586	1	DGG Taser & Tactical Supply	Mary-Rene Ahern	2322			1.0000	NO BID		
2797	1	BSN Sports	William Rusnak				1.0000	502.37000	502.37	
2914	1	Equip-it	Jon Willis					NO BID		
2927	1	ALUMINUM ATHLETIC EQUIPMENT CO	DAN MCCANN					NO BID		
2949	1	Riddell/American	J Braddy					NO BID		

Event Lines

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
100	WALL MOUNT SCOREBOARD STAND SPEC 4.4.7		805-63	Scoreboards, Sports	1.0000	EA	CM Contract	Open	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
10	1	Bill Fritz Sports Corporation	Bill Fritz					NO BID		

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
1586	1	DGG Taser & Tactical Supply	Mary-Rene Ahern	2322			1.0000	NO BID		
2797	1	BSN Sports	William Rusnak				1.0000	155.40000	155.40	
2914	1	Equip-it	Jon Willis					NO BID		
2927	1	ALUMINUM ATHLETIC EQUIPMENT CO	DAN MCCANN					NO BID		
2949	1	Riddell/American	J Braddy					NO BID		

Event Lines

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
101	BASKETBALL UNIFORMS SPEC 4.4.8		200-10	Athletic Clothing	3.0000	DZ	CM Contract	Open	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
10	1	Bill Fritz Sports Corporation	Bill Fritz					NO BID		
1586	1	DGG Taser & Tactical Supply	Mary-Rene Ahern	2322			3.0000	NO BID		
2797	1	BSN Sports	William Rusnak				3.0000	155.40000	466.20	
2914	1	Equip-it	Jon Willis					NO BID		

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
2927	1	ALUMINUM ATHLETIC EQUIPMENT CO	DAN MCCANN					NO BID		
2949	1	Riddell/American	J Braddy				3.0000	266.16000	798.48	

Event Lines

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
102	BASKETBALL UNIFORMS SPEC 4.4.8		200-10	Athletic Clothing	6.0000	DZ	CM Contract	Open	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
10	1	Bill Fritz Sports Corporation	Bill Fritz					NO BID		
1586	1	DGG Taser & Tactical Supply	Mary-Rene Ahern	2322			6.0000	NO BID		
2797	1	BSN Sports	William Rusnak				6.0000	152.64000	915.84	
2914	1	Equip-it	Jon Willis					NO BID		
2927	1	ALUMINUM ATHLETIC EQUIPMENT CO	DAN MCCANN					NO BID		

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
2949	1	Riddell/All American	J Braddy				6.0000	318.96000	1,913.76	

Event Lines

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
103	TENNIS NETS SPEC 4.5.1		805-78	Tennis Equipment	2.0000	DZ	CM Contract	Open	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
10	1	Bill Fritz Sports Corporation	Bill Fritz				2.0000	2244.00000	4,488.00	
1586	1	DGG Taser & Tactical Supply	Mary-Rene Ahern	2322			2.0000	NO BID		
2797	1	BSN Sports	William Rusnak				2.0000	1638.48000	3,276.96	
2914	1	Equip-it	Jon Willis					NO BID		
2927	1	ALUMINUM ATHLETIC EQUIPMENT CO	DAN MCCANN					NO BID		
2949	1	Riddell/All American	J Braddy					NO BID		

Event Lines

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
104	RUBICO MARKING LINES SPEC. 4.5.3		981-16	Athletic Equipment and Sporting Goods and Accessories Rental	6.0000	SET	CM Contract	Open	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
10	1	Bill Fritz Sports Corporation	Bill Fritz					NO BID		
1586	1	DGG Taser & Tactical Supply	Mary-Rene Ahern	2322			6.0000	NO BID		
2797	1	BSN Sports	William Rusnak					NO BID		
2914	1	Equip-it	Jon Willis					NO BID		
2927	1	ALUMINUM ATHLETIC EQUIPMENT CO	DAN MCCANN					NO BID		
2949	1	Riddell/American	J Braddy					NO BID		

Event Lines

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
105	TIDI-COURT TENNIS COURT TRAY SPEC 4.5.6		805-78	Tennis Equipment	16.0000	EA	CM Contract	Open	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
10	1	Bill Fritz Sports Corporation	Bill Fritz					NO BID		
1586	1	DGG Taser & Tactical Supply	Mary-Rene Ahern	2322			16.0000	NO BID		
2797	1	BSN Sports	William Rusnak				16.0000	36.27000	580.32	
2914	1	Equip-it	Jon Willis				16.0000	45.00000	720.00	
2927	1	ALUMINUM ATHLETIC EQUIPMENT CO	DAN MCCANN					NO BID		
2949	1	Riddell/All American	J Braddy					NO BID		

Event Lines

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
106	TENNIS LINE BROOM SPEC 4.5.9		805-78	Tennis Equipment	1.0000	EA	CM Contract	Open	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
10	1	Bill Fritz Sports Corporation	Bill Fritz					NO BID		
1586	1	DGG Taser & Tactical Supply	Mary-Rene Ahern	2322			1.0000	NO BID		

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
2797	1	BSN Sports	William Rusnak					NO BID		
2914	1	Equip-it	Jon Willis				1.0000	150.00000	150.00	
2927	1	ALUMINUM ATHLETIC EQUIPMENT CO	DAN MCCANN					NO BID		
2949	1	Riddell/American	J Braddy					NO BID		

Event Lines

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
107	TENNIS QUICK SCRUB SPEC 4.5.10		805-78	Tennis Equipment	1.0000	EA	CM Contract	Open	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
10	1	Bill Fritz Sports Corporation	Bill Fritz					NO BID		
1586	1	DGG Taser & Tactical Supply	Mary-Rene Ahern	2322			1.0000	NO BID		
2797	1	BSN Sports	William Rusnak					NO BID		
2914	1	Equip-it	Jon Willis					NO BID		

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
2927	1	ALUMINUM ATHLETIC EQUIPMENT CO	DAN MCCANN					NO BID		
2949	1	Riddell/American	J Braddy					NO BID		

Event Lines

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
108	TENNIS SCOR-POST PRO SPEC 4.5.11		805-78	Tennis Equipment	12.0000	EA	CM Contract	Open	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
10	1	Bill Fritz Sports Corporation	Bill Fritz					NO BID		
1586	1	DGG Taser & Tactical Supply	Mary-Rene Ahern	2322			12.0000	NO BID		
2797	1	BSN Sports	William Rusnak				12.0000	23.96000	287.52	
2914	1	Equip-it	Jon Willis				12.0000	75.00000	900.00	
2927	1	ALUMINUM ATHLETIC EQUIPMENT CO	DAN MCCANN					NO BID		

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
2949	1	Riddell/All American	J Braddy					NO BID		

Event Lines

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
109	WBGT WET BULB THERMOMETER SPEC 4.3.20		931-11	Athletic and Sporting Goods Equipment and Accessories (Shoul	1.0000	EA	CM Contract	Open	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
10	1	Bill Fritz Sports Corporation	Bill Fritz					NO BID		
1586	1	DGG Taser & Tactical Supply	Mary-Rene Ahern	2322			1.0000	NO BID		
2797	1	BSN Sports	William Rusnak					NO BID		
2914	1	Equip-it	Jon Willis					NO BID		
2927	1	ALUMINUM ATHLETIC EQUIPMENT CO	DAN MCCANN					NO BID		
2949	1	Riddell/All American	J Braddy					NO BID		

Event Lines

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
110	PHYSICIAN'S SCALES SPEC 4.3.21		931-11	Athletic and Sporting Goods Equipment and Accessories (Shoul	1.0000	EA	CM Contract	Open	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
10	1	Bill Fritz Sports Corporation	Bill Fritz				1.0000	253.33000	253.33	
1586	1	DGG Taser & Tactical Supply	Mary-Rene Ahern	2322			1.0000	NO BID		
2797	1	BSN Sports	William Rusnak				1.0000	183.46000	183.46	
2914	1	Equip-it	Jon Willis					NO BID		
2927	1	ALUMINUM ATHLETIC EQUIPMENT CO	DAN MCCANN					NO BID		
2949	1	Riddell/American	J Braddy					NO BID		

Event Lines

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
111	BATTING TEES SPEC 4.2.33		931-11	Athletic and Sporting Goods Equipment and Accessories (Shoul	3.0000	EA	CM Contract	Open	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
10	1	Bill Fritz Sports Corporation	Bill Fritz					NO BID		
1586	1	DGG Taser & Tactical Supply	Mary-Rene Ahern	2322			3.0000	NO BID		
2797	1	BSN Sports	William Rusnak				3.0000	15.17000	45.51	
2914	1	Equip-it	Jon Willis					NO BID		
2927	1	ALUMINUM ATHLETIC EQUIPMENT CO	DAN MCCANN				3.0000	25.00000	75.00	
2949	1	Riddell/American	J Braddy				3.0000	24.97000	74.91	

Event Lines

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
112	CATCHER'S HELMETS SPEC 4.2.35		931-11	Athletic and Sporting Goods Equipment and Accessories (Shoul	2.0000	EA	CM Contract	Open	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
10	1	Bill Fritz Sports Corporation	Bill Fritz					NO BID		

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
1586	1	DGG Taser & Tactical Supply	Mary-Rene Ahern	2322			2.0000	NO BID		
2797	1	BSN Sports	William Rusnak				2.0000	36.58000	73.16	
2914	1	Equip-it	Jon Willis					NO BID		
2927	1	ALUMINUM ATHLETIC EQUIPMENT CO	DAN MCCANN					NO BID		
2949	1	Riddell/American	J Braddy					NO BID		

Event Lines

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
113	SOFTBALLS SPEC 4.2.41		805-69	Softball Equipment	24.0000	DZ	CM Contract	Open	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
10	1	Bill Fritz Sports Corporation	Bill Fritz					NO BID		
1586	1	DGG Taser & Tactical Supply	Mary-Rene Ahern	2322			24.0000	NO BID		
2797	1	BSN Sports	William Rusnak				24.0000	33.28000	798.72	
2914	1	Equip-it	Jon Willis					NO BID		

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
2927	1	ALUMINUM ATHLETIC EQUIPMENT CO	DAN MCCANN					NO BID		
2949	1	Riddell/American	J Braddy				24.0000	72.50000	1,740.00	

Event Lines

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
114	3-WHEEL LINE MARKER SPEC 4.2.44		931-11	Athletic and Sporting Goods Equipment and Accessories (Shoul	1.0000	EA	CM Contract	Open	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
10	1	Bill Fritz Sports Corporation	Bill Fritz				1.0000	490.88000	490.88	
1586	1	DGG Taser & Tactical Supply	Mary-Rene Ahern	2322			1.0000	NO BID		
2797	1	BSN Sports	William Rusnak				1.0000	394.37000	394.37	
2914	1	Equip-it	Jon Willis					NO BID		
2927	1	ALUMINUM ATHLETIC EQUIPMENT CO	DAN MCCANN					NO BID		

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
2949	1	Riddell/All American	J Braddy					NO BID		

Event Lines

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
115	ADJUSTABLE BATTER'S BOX TEMPLATE SPEC 4.2.52		931-11	Athletic and Sporting Goods Equipment and Accessories (Shoul	1.0000	EA	CM Contract	Open	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
10	1	Bill Fritz Sports Corporation	Bill Fritz				1.0000	267.00000	267.00	
1586	1	DGG Taser & Tactical Supply	Mary-Rene Ahern	2322			1.0000	NO BID		
2797	1	BSN Sports	William Rusnak				1.0000	89.88000	89.88	
2914	1	Equip-it	Jon Willis					NO BID		
2927	1	ALUMINUM ATHLETIC EQUIPMENT CO	DAN MCCANN					NO BID		
2949	1	Riddell/All American	J Braddy				1.0000	299.00000	299.00	

Event Lines

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
116	ALUMINUM MAINTENANCE RAKE SPEC 4.2.53		805-69	Softball Equipment	1.0000	EA	CM Contract	Open	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
10	1	Bill Fritz Sports Corporation	Bill Fritz					NO BID		
1586	1	DGG Taser & Tactical Supply	Mary-Rene Ahern	2322			1.0000	NO BID		
2797	1	BSN Sports	William Rusnak				1.0000	31.95000	31.95	
2914	1	Equip-it	Jon Willis					NO BID		
2927	1	ALUMINUM ATHLETIC EQUIPMENT CO	DAN MCCANN				1.0000	39.00000	39.00	
2949	1	Riddell/American	J Braddy				1.0000	66.12000	66.12	

Event Lines

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
117	200' HOMERUN FENCE PACKAGE SPEC 4.2.54		805-69	Softball Equipment	3.0000	SET	CM Contract	Open	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
10	1	Bill Fritz Sports Corporation	Bill Fritz				3.0000	1239.00000	3,717.00	
1586	1	DGG Taser & Tactical Supply	Mary-Rene Ahern	2322			3.0000	NO BID		
2797	1	BSN Sports	William Rusnak				3.0000	882.93000	2,648.79	
2914	1	Equip-it	Jon Willis					NO BID		
2927	1	ALUMINUM ATHLETIC EQUIPMENT CO	DAN MCCANN					NO BID		
2949	1	Riddell/American	J Braddy					NO BID		

Event Lines

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
118	GROUND SOCKETS WITH CAPS SPEC 4.2.55		931-11	Athletic and Sporting Goods Equipment and Accessories (Shoul	3.0000	EA	CM Contract	Open	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
10	1	Bill Fritz Sports Corporation	Bill Fritz				3.0000	198.00000	594.00	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
1586	1	DGG Taser & Tactical Supply	Mary-Rene Ahern	2322			3.0000	NO BID		
2797	1	BSN Sports	William Rusnak				3.0000	58.39000	175.17	
2914	1	Equip-it	Jon Willis					NO BID		
2927	1	ALUMINUM ATHLETIC EQUIPMENT CO	DAN MCCANN					NO BID		
2949	1	Riddell/American	J Braddy					NO BID		

Event Lines

Line #	Name	Item	Commodity Code	Commodity Description	Quantity	UOM	Output Type	Status	Total Award Quantity
119	FOOTBALLS (RUBBER) SPEC 4.3.3		805-48	Football Equipment	3.0000	DZ	CM Contract	Open	

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
10	1	Bill Fritz Sports Corporation	Bill Fritz					NO BID		
1586	1	DGG Taser & Tactical Supply	Mary-Rene Ahern	2322			3.0000	NO BID		
2797	1	BSN Sports	William Rusnak				3.0000	359.04000	1,077.12	
2914	1	Equip-it	Jon Willis					NO BID		

Line Responses By Supplier

Supplier	Supplier Contact	Supplier Name	Contact	Vendor	Performance Evaluation Score	Contract	Quantity	Unit Price	Extended Price	Award Quantity
2927	1	ALUMINUM ATHLETIC EQUIPMENT CO	DAN MCCANN					NO BID		
2949	1	Riddell/American	J Braddy				3.0000	60.00000	180.00	